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The following table shows the percentage (%) distribution of teachers in six different
universities A-F. Total number of teachers in university E is 1856. Based on the data in the
table, answer the questions.

University-wise Distribution of Teachers

University Distribution (%) of Teachers
11%

17%

19%

6%

29%

18%

Mmoo

Fafafas oiver & ©: e Ryfeeemt a-F & et &1 ufowe fGavor oot mn &)
fayfarama e & Riare! 31 $a @I 1856 81 dIferdT § 3T T siFel & SMUR W US & IW
el

el &1 [gyideegar faawo
e &1 fgawm

(%)
11%
17%
19%
6%
29%
18%

fayfaeay]

MmO m | m |

The number of teachers in University B is approximately ___% of the total number of teachers in
University D and University E together.

1.55
2.59
3.49
4.65

1) 1
(2) 2
(3) 3
(4) 4
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1.55
2.59
3.49
4.65

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35701] Question Description : dwbv_pg_gp14_eng_2_q1l
2[Option ID=35702]

3[Option ID=35703]
4[Option ID=35704]
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The following table shows the percentage (%) distribution of teachers in six different
universities A-F. Total number of teachers in university E is 1856. Based on the data in the
table, answer the questions.

University-wise Distribution of Teachers

University Distribution (%) of Teachers
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If 25% of the teachers in University C are females, then what is the number of male teachers in
University C?

1.922
2.91
3. 924
4,912

1) 1
) 2
3) 3
(4) 4

ofE;, fFyfaenaT c & 25 ufawa Mg afgan § 9 ufdeaey c ¥ oy Riamwt @1 Wem o 82

1.922
2.91
3.924
4.912

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35705] Question Description : dwbv_pg_gp14_eng_2_q2
2[Option ID=35706]

3[Option ID=35707]
4[Option ID=35708]
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The following table shows the percentage (%) distribution of teachers in six different
universities A-F. Total number of teachers in university E is 1856. Based on the data in the
table, answer the questions.

University-wise Distribution of Teachers

University Distribution (%) of Teachers
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If Land M are the total number of teachers in Universities A, B and C together and Universities D,
E and F together, respectively, then the value of M-L is exactly equal to the number of teachers in
University .

mom g

1
2
3.
4

(1) 1
() 2
3) 3
(4) 4

of% faufaenem A, 8 o ¢ FHf 3R fayf@emem o, € 3R F 4 H Rt @1 o 9= S0 L AR M
g M - LT fayfaeay o el 1 T & e R

1.C
2.D
3.E
4.B

1) 1




(2) 2

3) 3

4) 4

1[Option ID=35709] Question Description : dwbv_pg_gp14_eng_2_q3
2[Option ID=35710]

3[Option ID=35711]
4[Option ID=35712]
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The following table shows the percentage (%) distribution of teachers in six different
universities A-F. Total number of teachers in university E is 1856. Based on the data in the
table, answer the questions.

University-wise Distribution of Teachers

University Distribution (%) of Teachers
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If 1/36th of the teachers from University F are Professors and salary of each Professer is T 96000
per month, then the total monthly salary of all these Professorsis .

1.3 307.2 lakh
2.% 32.64 lakh
3. 3.072 lakh
4.3 30.72 lakh

1) 1
(2) 2
3) 3
(4) 4




e [ayfaenaa F & 1/36 FR1a@ UMHR § 3R Ud® UMhae &1 dad < 96000 Ufd A8 &, af 3 Tt
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1.3 30727
2.3 3264 T
3.33.072T 4
4.330.72 g

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35713] Question Description : dwbv_pg_gp14_eng_2_q4
2[Option ID=35714]

3[Option ID=35715]
4[Option ID=35716]
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The following table shows the percentage (%) distribution of teachers in six different
universities A-F. Total number of teachers in university E is 1856. Based on the data in the
table, answer the questions,

University-wise Distribution of Teachers

University Distribution (%) of Teachers
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What is the average number of teachers in Universities A, C, D and F together?

1. 854
2.3456
3. 864
4. 874

1)
(2)
(3)
(4)

faufenaa A, ¢, D 3R F IR T Rga! @t 3igd 9@ fal 87

1. 854
2. 3456
3. 864
4.874

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=35717] Question Description : dwbv_pg_gp14_eng_2_q5
2[Option ID=35718]
3[Option ID=35719]
4[Option ID=35720]

Sl. No.6
QBID:14201006

Given below are two statements:

Statement I: DD GyanDarshan is a centre-owned television channel telecasting from Doordarshan
Kendra and IGNOU

Statement Il: DTH channels are using the GSAT-15 Satellite for programme telecasts in SWAYAM
Prabha

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1)
(2)
(3)
(4)

A W N R
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1)
(2)
(3)
(4)
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1[Option ID=35721] Question Description : dwbv_pg_gp14_eng_2_q6
2[Option ID=35722]
3[Option ID=35723]
4[Option ID=35724]

Sl. No.7
QBID:14201007

Given below are two statements:

Statement I: Cognitive Apprenticeship is a relationship in which an expert stretches and supports
a novice's understanding of and use of the cultural skills

Statement II: Scaffolding is a technique of changing the level of support from a low-skilled peer to
more skilled peer

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true,

(1)
(2)
(3)
(4)

A W N R
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1[Option ID=35725] Question Description : dwbv_pg_gp14_eng_2_q7
2[Option ID=35726]
3[Option ID=35727]
4[Option ID=35728]

Sl. No.8
QBID:14201008

Given below are two statements:
Statement |: Automaticity is the process of information with more efforts.
Statement II: Stategry construction is the discovery of new procedures for processing information.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

AR ey T E:
DU - | - WAl (HIEHRE) e varEl & 91y go-1 & uisar g
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4. Y | 7T B, A &Y 11 T8 2l

A W N R

1) 1
) 2




3) 3
(4) 4

1[Option ID=35729] Question Description : dwbv_pg_gp14_eng_2_q8
2[Option ID=35730]
3[Option ID=35731]
4[Option ID=35732]

Sl. No.9
QBID:14201009

In problem based learning, the word ‘SMART" stands for:

1. Special Multimedia Arenas for Refining Thinking

2. Special Multiphasic Aspects for Redefining Thinking

3. Secure Multiphasic Aspects for Redetermining Texts

4. Simple Multimedia Aesthetics for Reassuring Textbooks

1)
(2)
(3)
(4)

THT- ARG ST H, 'SMART' ez FHfIREd &1 (&P @ar 31
1. T Hee HITegT TS BR Rwrgf- fifd
2. WYE Ao Ibiod ey BiR RESHg ffd
3. IR ARG e ddaey B RISSHARHT aey
4. Tymoe A vifsa TRitay B Rumgii doeqe

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=35733] Question Description : dwbv_pg_gp14_eng_2_q9
2[Option ID=35734]
3[Option ID=35735]
4[Option ID=35736]

Sl. No.10
QBID:14201010

Which of the following is the National Coordinator for SWAYAM for Nontechnical undergraduate
education?

1. UGC
2. CEC
3. NCERT
4. NPTEL

(1)
(2)
(3)
(4)

frafafad 7 9 &1 w@ad (swavam) & fie IR-de-lie] gd-aae s o1 g daiv &2

1. ZSILE

2. @3

3. S AR
4. U S Ea.

A W N R
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3) 3
(4) 4

1[Option ID=35737] Question Description : dwbv_pg_gp14_eng_2_q10
2[Option ID=35738]
3[Option ID=35739]
4[Option ID=35740]

Sl. No.11
QBID:14201011

Researchers sometimes use the common abbreviations in their reports. The abbreviation ‘cf.,’
means -

1. copied from

2. chapter from

3. cited frequently
4. compare

(1)
(2)
(3)
(4)

Foff- Tl TeEar g RUE I SeTaR! &1 Ugi $d 8| GATTER of. BT 8 -

1. ¥ yfafafaa
2.9 3™

3. UTH: 3GYd
4. qEHT BT

A W N R

(1)
(2)
(3)
(4)
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1[Option ID=35741] Question Description : dwbv_pg_gp14_eng_2_q1l1
2[Option ID=35742]
3[Option ID=35743]
4[Option ID=35744]

Sl. No.12
QBID:14201012

Given below are two statements:

Statement I: Non-parametric tests are not easy to use and are rather slow i.e. they require
labourious computations.

Statement Il: Non-parametric tests do not suppose any particular distribution and the
consequential assumptions.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

(1)
(2)
(3)
(4)

A W N R
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1. YT | AR 11 ST FT B
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4. BYF | T B, o7 HYT 11 TA B

1)
(2)
(3)
(4)

A W N B

1[Option ID=35745] Question Description : dwbv_pg_gp14_eng_2_q12
2[Option ID=35746]
3[Option ID=35747]
4[Option ID=35748]

Sl. No.13
QBID:14201013

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The research articles published in peer-reviewed journals are taken more seriously
by experts.

Reason (R) : Peer-reviewed journals do not subject the research papers to rigorous scrutiny
because they have high impact factors.

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4. (A) is false but (R) is true.

1) 1
(2) 2
(3) 3
4) 4

TG Y GUU G : U @l SHUSHYA (A) R g8 @I dd (R) Bel I8l
HYHYA (A) : GO (ER) IHea S-al O Ua1Ed QY eral i fa=es 14k 9 od 1

T (R) : THGET (UITR) Siaid oo J gt @ 7R aHfiat 981 Sl & wife 51 THE SR
A gl

SUddd YAl & HTdld | FHifdd [dbedl # 4 Wel 9k 9 -

(A) 3R (R) ST G € 3R (R), (A) BT FEl AT 8|

(A) 3R (R) GFI 9 & TR (R), (A) DI Te! O T8l 61
(A)

(A)

TG g U3 (R) 30T &l
U &, A (R) T B




(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35749] Question Description : dwbv_pg_gp14_eng_2_q13
2[Option ID=35750]

3[Option ID=35751]
4[Option ID=35752]

Sl. No.14
QBID:14201014

If you wanted to understand the theoretical reasons that led the researchers to conduct a project,
you would read which section of their research article?

1. Abstract

2. Introduction
3. Discussion
4. References

1) 1
(2) 2
3) 3
(4) 4

Ifg 3 37 dgif~ad HRUMN & T 918d & (o4 Yddi Uh RS & Yara- & fad uiid
54 I S0 (o7 US| Id QY 3AIeid o (g HF DI UgAT gAT?

1. 9RIE
2. g=arar
3. gfegal
4. Te

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=35753] Question Description : dwbv_pg_gp14_eng_2_ql14
2[Option ID=35754]

3[Option ID=35755]
4[Option ID=35756]

Sl. No.15
QBID:14201015




Match List | with List 11

List | (Type of
Research)

List Il (Description)

A. Case Study

. Variables are actively manipulated and the environment is controlled
as possible

B. Observational
Research

Il. Study of behaviours in their natural settings without intervention

C. Longitudinal
Research

lIl. In-depth study of a single or a few individuals

D. Experimental
Research

IV. Study in which a group of participants is observed and measured
over time

Choose the correct answer from the options given below:

TA-LB-ILC-ILD-1V
2ZA-IV,B-1,C-1,D-1I
3A-IV,B-LC-1L,D-I
4 A-NL,B-1,C-1V,D-1

1)
(2)
(3)
(4)

A W N R

Tl -1 &1 Gl -1l ¥ GHfed ST :

AT

- (@Y &
ﬁj T -11 (@oh)
A TERU (BF) |1 TR 9fhd ¥U 4 Sadifod [dU 9Id & 3% Taiazor
g @ TG HafEa faea 9 8
5. RaeTs Ty 1|, SEI&IY o (91 391 Uil ouaw H agR| &

C.3FcH Ty |1l Uhd 91 $S Aldad| Pl Ju- HLG

D. WiSHIES  |Iv. 98 g forad ufawiial & ue 945 &1 e
RIEY 3afey # Yayur 3R A9 a1 STl 8 |

1)
(2)
(3)
(4)

A W N =

i< fRu e fesedl H 998l IR g

TA-LE-ILC-H, D-IV
2ZA-IV,B-1,C-1l, D-1I
3A-IV,B-LC-1I, D-1I
4A-NLB-1,C-1V, D-1

1[Option ID=35757]
2[Option ID=35758]
3[Option ID=35759]

4[Option ID=35760]

Sl. No.16

QBID
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Question Description : dwbv_pg_gp14_eng_2_q1l5




An example of asynchronous media is -

1. The television
2. The radio

3. The cinema

4. The newspaper

(1) 1
(2) 2
3) 3
(4) 4

TEHIIID HIEHH BT UH JaTeIV & -

1. CETgeH
2. &
3. femn
4. GHERYA

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35761] Question Description : dwbv_pg_gp14_eng_2_q16
2[Option ID=35762]

3[Option ID=35763]
4[Option ID=35764]

Sl. No.17
QBID:14201017

According to critics, Mass mediated transmission of culture means the transmission of -

1. High culture

2. Middle culture
3. Low culture

4. Unknown culture

1) 1
(2) 2
3) 3
(4) 4

HIAED! & SHR, IS oH-HTH I TEpid & UURU &1 34 fhgd TR &7

1. 3 G&pid
2. 7 H5pid
2. Fg O
4. 9T TEpd

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35765] Question Description : dwbv_pg_gp14_eng_2_q17
2[Option ID=35766]

3[Option ID=35767]
4[Option ID=35768]

Sl. No.18
QBID:14201018




The major characteristics of digital media are :

A Interactivity

B. Automation

C. Cheaper cost

D. Higher cost

E. Not different from analog technology

Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4. A Dand E only

(1) 1
(2) 2
(3) 3
(4) 4

faferd areny & v vt fm g -
A. 3FR-forardEdl
B. TdIeH
C. Tl ArTd
D. &l AFTd
E. TR qaTeirsil / WEiRTe! § e a1
<< feg e fadeal 5 4 9l SR 9 -
1.®dd A, B 3R C
2.%ae B, C ARD

3. HaAC, DARE
4.HaAA DIARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=35769] Question Description : dwbv_pg_gp14_eng_2_q18
2[Option ID=35770]
3[Option ID=35771]
4[Option ID=35772]

Sl. No.19
QBID:14201019




The important features of the transactional model of communication are
A. Feedback is repetitive.

B. It is mostly used for inter-personal communication.

C. The senders and the receivers of messages can inter-change their roles.
D. Feedback is simultaneous.

E. The heavy dose of noise provides a message.

Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4. A Dand E only

1)
(2)
(3)
(4)

A W N R

UaR & YOdeRIHS MERl (CFlaRe Hisd) &1 He@yul aigimdan 8 ¢ -
A, TR ETeRTa R B £
B. Ug SHIAUBIIG: Sfaiddidad HaR & fe1Y IR gl |
C. Heal & U 3R Uil su-1 YiH®HId $ud § g6d 9ad o |
. UgfE WEwIe g ¢
E. TR &1 4RI GU o Tex ol o
i<l feu 1u fadedl & 4 981 SR g -
1.Ha A, B AR C
2.%9d B, C AR D

3.HaAC, DIARE
4. BaAA DARE

1)
(2)
(3)
(4)

A W N =

1[Option ID=35773] Question Description : dwbv_pg_gp14_eng_2_q19
2[Option ID=35774]
3[Option ID=35775]
4[Option ID=35776]

Sl. No.20
QBID:14201020




Given below are two statements:

Statement |: The media of mass comminication are in a continuous state of flux with many other
elements of human experience.

Statement II: Such a state makes their operations and effects rich as well as elusive.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
(2) 2
3) 3
(4) 4

BIERALAIEN A
DY - | : TH-UdR P HGH 4 SIHAl &b agd 4 3 dadl & 91y FR=R HHaE ®f g=1 H 38d §
@A - 11 : UG &= 3db UREIeH 3R WHIa! &l 995 o 91y 9y gl &41d! &
I HYA B 3G H FEieiad [eedl # 8 98l 3w 94 -
1. Y1 3R 11 SHI G B
2. ®YA | IR 1l Gl SEA G

3. Y | 9d g, dfth dYA 11 3T B
4. Y | 35T B, A HYF 1 T B

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35777] Question Description : dwbv_pg_gp14_eng_2_q20
2[Option ID=35778]

3[Option ID=35779]
4[Option ID=35780]

Sl. No.21

QBID:14201021

A man deposits T 5000 in a bank at the rate of 12% simple interest for 2 years. He also deposits
ancther amount of T 5000 in another bank at the same rate of 12% compound interest,
compounded annually. Find the difference between the simple interest and compound interest
generated on the amount after 2 years

1.372

2.31200
3.31272
4.3 272

(1)1
(2) 2
(3) 3
(4) 4




U Afdd U db H 12% HIURU &I & &2 © Gl 94 b eIl 5000 YT &H ddl ¢ | 96 Udb gel dd
ol GHM 129 B Il o419 G d %, 5000 SHI Hdl § Wl diiid €U ¥ FHs@ifd siar g

&l 9Y 918 VIR & AR I ais Sa @1 3fak J1d diferd |

1.%.72
2.%.1200
3.%.1272
4.%. 272

(1)
(2)
(3)
(4)

A W N R

1[Option ID=35781] Question Description : dwbv_pg_gp14_eng_2_q21
2[Option ID=35782]
3[Option ID=35783]
4[Option ID=35784]

Sl. No.22

QBID:14201022
A two digit number is 7 times the sum of its two digits. Another number, that is formed by
reversing its digits, is 18 less than the original number. Find the original number.

1.36
2.63
3.24
4.42

(1) 1
(2) 2
(3) 3
(4) 4

ol 3l B Ud U= 3°D GHI Dl & aN1 &1 7 TH1 5| FHD Jid! & gobH d & 4e 54
YT ¥ 18 $9 & | g0 TS UG Sifau|

1.36
2.63
3.24
4.42

1)
(2)
(3)
(4)

A W N R

1[Option ID=35785] Question Description : dwbv_pg_gp14_eng_2_q22
2[Option ID=35786]
3[Option ID=35787]
4[Option ID=35788]

Sl. No.23
QBID:14201023




Total cost price (C.P.) of two cars A and B of different models is T 5.0 lakhs. Car A is sold at a profit
of 20% and car B is sold at a loss of 20%. However, the selling price of the two cars A and B
remains the same.

Find the cost price (C.P.) of the two cars A and B in lakhs, respectively

1.3 2.5 lakh and T 2.5 lakh
2.3 24 lakh and T 2.6 lakh
3.% 2.0 lakh and % 3.0 lakh
4.% 2.6 lakh and % 2.4 lakh

(1) 1
(2) 2
(3) 3
(4) 4

iy Alsal &l @R A 3R B &I $d aFld $. 5.0 ARA 5 | BR A 20% & dH UR gl oildl ¢ AR PR B
20% @1 81 T 90 A1 31 T g @RY A 3R 8 & fasa g9 99 B &1 BRI A 3R B &1 @
Hed HHT: T | a5

1.%. 2.5 QNG 3N %, 2.5 T@
2.%. 24 TG 3R %. 2.6 AE
3.%. 2.0 O1G 31X %. 3.0 TG
4.%, 2.6 MG AR T, 2.4 TG

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=35789] Question Description : dwbv_pg_gp14_eng_2_q23
2[Option ID=35790]

3[Option ID=35791]
4[Option ID=35792]

Sl. No.24
QBID:14201024

The sum of 7 consecutive natural numbers is 1617. Find how many of these are prime numbers?

1.2
2.3
3.1
4.4

(1) 1
(2) 2
(3) 3
(4) 4

7 SN Wil A3 &1 IRT 1617 &1 S0 fdvd- SHTo ST 67

1.2
2.3
3.1
4.4

1) 1
() 2
3) 3
(4) 4




1[Option ID=35793] Question Description : dwbv_pg_gp14_eng_2_q24
2[Option ID=35794]
3[Option ID=35795]
4[Option ID=35796]

Sl. No.25
QBID:14201025

In a certain coded language;

A) ‘ana ilo gao’ means ‘humans are good’

B) 'gao nado da’ means ‘good and bad’

C) 'di ilo da' means "they are bad’

In this coded language which words stands for ‘and’ & ‘they"?
1. %lo" & *dif

2.lo" & 'da’

3. 'nado’ & 'da’

4. 'nado’ & 'di’

(1)

(2)

(3)
(4)

A W N R

U H%d Poag v H -

A) 3T I Mt &1 3 § HrE oS F

B) T3 ATS! ST &1 3 § " 3HwST AR R

ofssaisrmafgaqRe

Y Heag HIT H ¥R @ 9 & U BH ¥ Uk &7
1.3qr IR &
2. gar 3R BT
3. 18T 3R 8T
4. 918 3R T2

1)

2

(3)
(4)

A W N R

1[Option ID=35797] Question Description : dwbv_pg_gp14_eng_2_q25
2[Option ID=35798]
3[Option ID=35799]
4[Option ID=35800]

Sl. No.26
QBID:14201026

“Mary Com's coaches say that she has a real gift for boxing. So because her skill is a gift, she
doesn't deserve any credit for it.” Which informal logical fallacy is committed in the above
statement?

1. Appeal to authority
2. Red Herring

3. Equivocation

4. Begging the Question

(1) 1




) 2
3) 3
(4) 4

“HBIH & URIED! BT Bel ¢ [ 39D U4 HadbaTel @1 aRaiad HiaHl § | T I9@1 DI
ISR, o T8 g0 og U M ST BT IA TR B 1

JRIdd BYT H BH-TT SFTH1D dlichd G 82

1. UIDR 38
2. 3sefa

3. AEPIUHA
4, AT

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35801] Question Description : dwbv_pg_gp14_eng_2_q26
2[Option ID=35802]

3[Option ID=35803]
4[Option ID=35804]

Sl. No.27
QBID:14201027

Which of the following propositions are logically equivalent?
A. No women are arrogant human beings.

B. No arrogant human beings are women.

C. All women are non-arrogant human beings.

D. All non-arrogant human beings are non-women.

Choose the correct answer from the options given below:

1. A and D only

2. A, Band Conly
3.A Cand D only
4.B, Cand D only

1) 1
(2) 2
(3) 3
(4) 4




FafaRad 4 9 @F-4 ufasicl difde U ¥ 99qd 87
A. BIE i ATl RPN 7% T8 €|
8. @3 T SEHRI AT, Afea FeT 81
C. gl AfgA IR-3EHRI 7= g1
D. g1 TR-3g@rl 4%, IR-AfRA 81
i< feu e faweal 5 9 981 IR 9 -
1. Pad A AR D
2.BadA, B IR C

3. AT A, C3RD
4.%ad B, C AR D

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=35805] Question Description : dwbv_pg_gp14_eng_2_q27
2[Option ID=35806]

3[Option ID=35807]
4[Option ID=35808]

Sl. No.28
QBID:14201028

If the statement ‘some cricketers are not bowlers' is given as false, then which of the following
statements can be immediately inferred to be false?

1. Some bowlers are cricketers.
2. Some cricketers are bowlers.
3. All cricketers are bowlers.
4. No cricketers are bowlers.

1) 1
(2) 2
(3) 3
(4) 4

ot Y TS [Hoe fGae! ea T8l & @l 2 G g, d Figffed d e sy &
@I 4 ¥ 39 Bl DI SFHM [adl off 9&dl 87

1. $S Tical fbde Raaral g1
2. 5% fbde Raarg! Tiga gl
3. g fordre faarsl iga 81

4. Bl i Ghde fGaTs! 7icar el 8|

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=35809] Question Description : dwbv_pg_gp14_eng_2_q28
2[Option ID=35810]

3[Option ID=35811]
4[Option ID=35812]

Sl. No.29
QBID:14201029




Which of the following statements are so related that they cannot both be false, although they
may both be true?

A. Some women are multitaskers,

B. All women are multitaskers.

C. Some women are not multitaskers.

D. Mo women are multitaskers.

Choose the correct answer from the options given below:

1.B and C only
2.B and D only
3.Aand D only
4. A and Conly

(1) 1
(2) 2
(3) 3
(4) 4

Wﬁﬁﬁq-ﬁmmwmﬁﬁ%?ﬁﬁﬁmﬁﬁm,wﬁﬁaﬁ:ﬁwﬁf
|
A TS Al Fg3THI 5
8. g1 AfgaT IgaeHi g1
C. 9@ Higalt sg3gHl Tl &
D. B Hl AT SgaeH &l |
i< e 71q fadeul # 4 9el 3wk g :
1.®dd B ¥R C
2.%aq B 3R D

3. HIAA AR D
4. FAAA AR C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35813] Question Description : dwbv_pg_gp14_eng_2_q29
2[Option ID=35814]

3[Option ID=35815]
4[Option ID=35816]

Sl. No.30

QBID:14201030

According to classical Indian School of Loge (Nyaya) which of the following steps of inference
involves synthesis of major term (sadhya), middle term (hetu) and the minor term (paksa)?

1. Heraclitus is mortal.
2. Because he is a man.
3. Whoever is a man is a mortal, e.g. Parmanides.
4. Heraclitus is a man who is invariably a mortal.

1 1




) 2
3) 3
(4) 4

YR ARG (RIM) 9 Jd & ST9R HTHH & 16bq 901 § J3d UG (91, Y UG (8q) SR a9Uua
(G&]) BT UZeTw0T W il 37

1. gUIfdeed AR B

2. ®ifd dg Ush HIH g

3.9 i 5™ g, 98 9% &, oY UHiHSg]

4. gIfdeTed U@ A & ol [ FRUAIG &9 4 991 31

(1)
(2)
(3)
(4)

A W N R

1[Option ID=35817] Question Description : dwbv_pg_gp14_eng_2_q30
2[Option ID=35818]
3[Option ID=35819]
4[Option ID=35820]

Sl. No.31
QBID:14201031

In ICT, which one of the following pair of acronyms and its expansion are incompatible?

1. .gif - Graphics Interchange Format
2..css - Cascading Style Sheet

3. .rar - Readable ARchive

4. .jpeg - Joint Photographic Expert Group

1)
(2)
(3)
(4)

3. T 81 ° Fafafad ¥ 9 @91 oaut Res AR SU@T Gy $[Td &7

1. Sl 35 UF - Tipad Se3ds BiHe

2. T U9 Uy - HOdieT e X

3. 3R U AR - S84 H@izd

4. ST O g off - Sige Wb Taque gu

A W N =

(1)
(2)
(3)
(4)

A W N R

1[Option ID=35821] Question Description : dwbv_pg_gp14_eng_2_q31
2[Option ID=35822]
3[Option ID=35823]
4[Option ID=35824]

Sl. No.32
QBID:14201032




Identify the correct order of the following terms A-D to complete the sentences given below:

The action of sending emails to fraudulently obtain another person’s bank details is called
The action of illegally installing malicious code which redirects a person to a fraudulent website
with the purpose of obtaining that person's bank details is called . Unsolicited bulk emails

are called . The action of sending text messages to fraudulently obtain another person's
bank details is called

A. Pharming
B. Smishing
C. Phishing

D. Spam

Choose the correct answer from the options given below:

1.C,ADB
2ACBD
3.B,A, D, C
4.0 A CB

1)
(2)
(3)
(4)

I feu U arel @l QR & & oL A-D & FEiaiad el & Ugl H o UgdaH Sl

HA G BT dP AT Ut B3 o 07U Hueqyl G4 SHeE Yo @ [haT @l @el oidl g
U] B B HAY EU F YR B B 341, T9H U Afad &1 4@ 30l Wi B & e
T 34U U@ HUCT da9I5e ®f U Ud B I _____ Pl ordl g | [&1 37l T8 Hafi® (@om) B
DI _____ Dol ol ol 3 A & HUCYY o1 U 9 faai0l W $3- & g s -a & Hom
GiRF 2 2 S - K o

A, T

B. THIFIT

c. ffmT

D. TH

i< feu e fawedl 5 9 98l 3w 9 -
1.C,A DB
2.A,C,B,D

3.B,A D C
4D A CB

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=35825] Question Description : dwbv_pg_gp14_eng_2_q32
2[Option ID=35826]
3[Option ID=35827]
4[Option ID=35828]

Sl. No.33
QBID:14201033




Given below are two statements:
Statement I: (240)1 = (11110000);
Statement I: (101011111101010); = (57EA)15

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
) 2
3) 3
(4) 4

fEd s RUIUE:

T - 1: (240)10 = (11110000),

HUF - 11: (101011111101010); = (57EA) 16

Iugad DYl & Tci | FeiaRad Geddl § 9 98 I g -
1. Y | 3R 11 &H T B
2. BY 1 3R 11 Gl S ET B

3. YT | 9 &, dfth- HYA 11 3T B
4. ®YT | AT B, et BT 11 TI Bl

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=35829] Question Description : dwbv_pg_gp14_eng_2_q33
2[Option ID=35830]

3[Option ID=35831]
4[Option ID=35832]

Sl. No.34
QBID:14201034

Which of the following file types are containers which can hold number of files with different
types?

A. Moving Pictures experts group layer 4 (.mp4)

B..mp3

C. rar

D. zip

Choose the correct answer from the options given below:

1.Cand D only
2.B, Cand D only
3.A Cand D only
4.4, B, CandD

1 1




() 2

3) 3

(4) 4

T 5 9 BIFY BISa- TSR MU (@GcT9) 8, Sl 4 TSR ST 30 BI5al ol 3 9od &7
A. T foe=r Teudd 0 TR-4 (THU)

B. THUI3

C. IR

D. forg

i<l feu 7Tu faseail 4 9 98l 3R 9 -

1. BAAC 3R D
2.%ad B, CARD
3. HaA A, C3RD

4.A B C3RD

1)
(2)
(3)
(4)

A W N =

1[Option ID=35833] Question Description : dwbv_pg_gp14_eng_2_q34
2[Option ID=35834]
3[Option ID=35835]
4[Option ID=35836]

Sl. No.35
QBID:14201035

Match List | with List 11

List-1 (Automatic Data

List-11 (D ipti
Capture Method) ist-ll (Description)

l. Reading data directly from hard copy and converting into
A, Biometrics 9 y Py 9

computer - readable form

Il. Use of fingerprint scans, retina scans, face identification etc. as a

5 OCR way of identifying a person uniquely

c OMR 1. Use of minute electronic devices (containing microchip and
antenna) that can be read from distances up to five meters

5 REID IV. System that reads pencil or pen marks on a piece of paper in pre-

determined positions

Choose the correct answer from the options given below:

TA-ILE-1L,C-IV,D-1
2ZA-LB-ILC-IV,D-1I
3A-ILB-IV,C-1,D-1
4A-IV,B-1.C-1l,D-1I

1)
(2)
(3)
(4)

A W N =




Tl-1 B Y- ¥ gafad st

S 1. TS 101 4 el 321 BT U6 3R SAge-96-14
' : ta

Il e DI IS &1 4 Ugdl- & U aildy b
B. I HL3R. T H A-STY B -, A BT &b, Tet &l

Ugd TG &1 UG

111 3 AT ITaY Ud UeH1 arcl Y& SaideHd
C. 3 TH.3R. gidaal (fsasds) o1 Iudi 5 uid Hie ad
@I Gl U YT ol Il &

Iv. 98 wumet, =i gd-Fufia fufod! & e e
D. 3R Q.3 31 mﬁamm%ﬁm%

o fGu U fadeat & 9§ 98l S g :

TA-ILBE-1,C-IV, D-1l
2ZA-LB-ILC-IV, D-1I
A-ILB-IV,C-1, D-1I
4A-IV,B-1.C-1Il, D-N

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35837] Question Description : dwbv_pg_gp14_eng_2_q35
2[Option ID=35838]

3[Option ID=35839]
4[Option ID=35840]

Sl. No.36
QBID:14201036

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A): Since pre-industrial times carbon dioxide has contributed maximum to the global
warming.

Reason (R): Carbon dioxide has highest Global Warming Potential (GWP).

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct and (R) is NOT the correct explanation of (4).
3. (A) is correct but (R) is not correct.

4, (A) is not correct but (R) is correct.

1) 1
(2) 2
3) 3
(4) 4




A Y CUU G : US &l HUSHYH (A) AR g8 DI 9 (R) el ™8|

HFUEHU (A) : [E-NFTE BT Y Bre- SRMFES - 3% argq  sfmad smeH fFar gl
T (R) : PO SHHGIES @I af¥® a9 JUET I=d9 &

Suded HYHl B Tclie | FHifled [ddedl § 8 98l I g -

1. (A) 3R (R) THT HE1 € 3R (R), (A) B Hel SURBAT & |
2. (A) 3R (R) THT T8I & IR (R), (A) BT Te! SRS Tel o
3. (A) 98l § U%g, (R) Tel 78 8|
4. (A) TEI TR 8 W (R) eI
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=35841] Question Description : dwbv_pg_gp14_eng_2_q36
2[Option ID=35842]
3[Option ID=35843]
4[Option ID=35844]

Sl. No.37
QBID:14201037

Given below are two statements:

Statement |: Dioxins and other chlorinated hydrocarbons have been shown to accumulate to
dangerous levels in fish and fish eating birds.

Statement |I: Dioxins are highly toxic; even exposure to its extremely low concentration can cause
birth defects, genetic disorder and cancer.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

(1) 1
(2) 2
(3) 3
(4) 4

CIERA R A

DY - |- U a2 T ¢ o maferdl SR Al 9H die uiédl | SEife R o aaiki- gad
B3 SIPIE & WRAd W] a® Yo9g- gial o

TYA - || : S HAHE U B1d & R 9@ A 9 G50 WHE H o4 &1, S-ga®
TPl 3R HR B SRS & Ybd o

SWad HUAl & H1die H HufeRad fadddl § 4 9el 3w g -
1. BT 1 AR 1 SHT I '
2. YA | AR 11 GFT AT B
3. ®YT | TRl &, it YA 1| Tad g |
4. ®YF | 7Tdd &, At &Y 11 98l 5

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=35845] Question Description : dwbv_pg_gp14_eng_2_q37
2[Option ID=35846]

3[Option ID=35847]
4[Option ID=35848]

Sl. No.38
QBID:14201038

Given below are two statements:
Statement |: In a breeder reactor more fissile material is produced than it is consumed.

Statement II: In a breeder reactor, breeding works best with slow neutrons and hence moderators
are required.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

OR!
(2) 2
3) 3
(4) 4

BERAGIE AR
DY - | : oD RUdeR H, 39 @Ud & ga-1 H U [dusy (huga) 9l 3ad eidl 8

T - || : UoF® RUae? H UoiH &1 €8 g2l & Ty 9arad g1 & 3R 39T deat @t
HIGRGH Bl &l

IWad HUA[ & H1cid H HyfeRad fadedl § U 9el Iw 9 -
1. Y1 3R 1S FE R
2. ®YA | 3R 11 ST Tad §
3. ®YT | TEl &, it Y || Tad g
4. ®YF | T4 §, Tid dY 11 F8l 5

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35849] Question Description : dwbv_pg_gp14_eng_2_q38
2[Option ID=35850]

3[Option ID=35851]
4[Option ID=35852]

Sl. No.39
QBID:14201039




Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Acidity in water with pH level above 5 has detrimental effect on aquatic life.
Reason (R) : Water with pH value between 5 to less than 7 is of acidic nature.
In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4, (A) is false but (R) is true.

1) 1

(2) 2

(3) 3

4) 4

T E P RUTE: U@ &l HUHYA () R GO DI 9o (R) el T8l

HUHYA (A) : 9a H, 5 9 3 UTg TR S SFadl S oidig wigd 1R Higden! THE eidl &
dd (R) : 5 9 U@ AR 7 Y A UIed HF dIa od A& Upid @1 sidl g

JUldd Sl & HITld | FHifdsd [deedl H 4 9el Sk g -

1. (A) 3R (R) TFI 9@ & 3R (R), (A) P Tg! AR & |

2. (A) 3R (R) GFT 9 §, Al (R), (A) BT Tl R ol &l
3. (A) T ®, dfd (R) ST B

4. (A) 319 g, A (R) T B

1[Option ID=35853] Question Description : dwbv_pg_gp14_eng_2_q39
2[Option ID=35854]
3[Option ID=35855]
4[Option ID=35856]

Sl. No.40
QBID:14201040

Full form of PAN, a type of air pollutant, is -

1. Peroxyacetyl nitrates
2. Peroxyacetyl nitrites
3. Polycyclic acyl nitrates
4. Polycyclic acyl nitrites

1) 1
(2) 2
3) 3
(4) 4




U USR & 91g Ugh® Ul € UH (UF) &1 9Uf ¥4 Hgiaiad 3§ ¥ @ urg?

1. RiFfefierEq Ageey

2. NIRRT THCREH

3. Uioag oa® uhad Ageed
4. gicrasias T AggEey

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35857] Question Description : dwbv_pg_gp14_eng_2_q40
2[Option ID=35858]

3[Option ID=35859]
4[Option ID=35860]

Sl. No.41
QBID:14201041

The National Education Policy, 2020, also focuses on

1. Coastal area education

2. Hill area education

3. Foreign education through Indian languages
4. High guality education in Indian languages

1)
(2)
(3)
(4)

T e Fifd, 2020 FERIRET 7 ¥ 69 W i G Bisd H 62

1. deddi &7 e
2. UgTSl &3 fRran
3. Yredig yrareft & A § faceh fran
4. YRA™ H9I3 H I=d U R

A W N =

(1)
(2)
(3)
(4)

A W N R

1[Option ID=35861] Question Description : dwbv_pg_gp14_eng_2_q41
2[Option ID=35862]
3[Option ID=35863]
4[Option ID=35864]

SI. No.42
QBID:14201042




Given below are two statements:

Statement |: Before Independence, the Britishers failed to create a national system of higher
education in India.

Statement II: After 1947, the University Education Commission (1948-49) was mandated to
suggest improvement to suit the needs of higher education in India.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N R

EEFCAE AR
BY - | AT 9 gd fefemr 2me wRd | Wi = R gt & Fiond fawa e

BYF - 11 : 1947 & 16 [GUTIETTT fRI SR (1948-49) B YR H I=a? e &1 agdarl &
HTET QYRT & IR H Y & & fog siftgwr féan mar 1)

Iuge Pyl & e H HgfaRad Geedl § 9 98 3o g -
1. @Y 1 R 1 AT I B
2. B | AR 11 ST T &

3. ®YT | O g, At BY 11 3T B
4. FYF | HTA T, THT YA 1 T B

1)
(2)
(3)
(4)

A W N R

1[Option ID=35865] Question Description : dwbv_pg_gp14_eng_2_q42
2[Option ID=35866]
3[Option ID=35867]
4[Option ID=35868]

Sl. No.43
QBID:14201043

Which of the following presidents of India was basically an academician?

1. Gyani Zail Singh

2. Pranab Mukharjee

3. APJ Abdul Kalam

4. Sarvapalli Radhakrishnan

1)
(2)
(3)
(4)

A W N R




YR & FHefaiad Tgufadl § 9 o qd U 3 U SioreHiRIgT ur

1. 9H a8

2. UG JEell

3. TS 3fegd daM
4. U AUGUE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35869] Question Description : dwbv_pg_gp14_eng_2_q43
2[Option ID=35870]

3[Option ID=35871]
4[Option ID=35872]

Sl. No.44
QBID:14201044

What are the principles identified by NEP 2020, document for higher educational changes?
A. Strict Separation between arts and science

B. Education as a private service

C. Development of multi-disciplinarity

D. Extensive use of technology

E. Promoticn of ethical and constitutional values

Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4. A Dand E only

1) 1
(2) 2
(3) 3
(4) 4




I TRren & &3 & ufvady & fow 73 fR1em ifg, 2020 & gwaew & Fafafad & © &7 fasial o
fafed e mar g2

A. T SR G & 419 TER JUaTHIl
B. U {¥oil a1 & &U H FIaf
C. dg-favgsdl &1 fderd
D. WiElIffTeh! &1 ATue JUiT
. Afd® SR HaeTHd Hed! Bl Ui &
i<l feu e fadeal & 9 W6l SR 9 -
1.®add A, B3R C
2,990 B, C 3R D

3.HaAC, DARE
4. HadA DIARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=35873] Question Description : dwbv_pg_gp14_eng_2_q44
2[Option ID=35874]
3[Option ID=35875]
4[Option ID=35876]

Sl. No.45
QBID:14201045

Which of the following are major problems faced by the higher education system in India?
A. Richly funded public universities

B. A water-tight compartmentalisation of disciplines

C. Restricted teacher and institutional autonomy

D. Less emphasis on quality research across disciplines

E. Affiliating universities with a few colleges of undergraduate programme

Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4. A Dand E only

1)
(2)
(3)
(4)

A W N R




HRd H FedaR [R1af yoirell Fafaiad # 9 faq 1 aawisi & 9H-1 Sl o7

A UR 4 ¥ Ffgd gda-e fayfdemy
8. fawdl &1 HoR FHFHI
C. g SR deHi @ Hifed @Eadan
D. fawdl & IuEgaiR® WY I &H §d
E. Jd-HId® BIU%HH P $o Helldecdl & 91y Hag [ayiaey
=< feu 7Tu fadedl § 9 U8l SR 9 -
1.®dd A, B 3R C
2.Had B, C 3R D

3.%aAC, DIAHRE
4.FaAA DIARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35877] Question Description : dwbv_pg_gp14_eng_2_q45
2[Option ID=35878]

3[Option ID=35879]
4[Option ID=35880]

Sl. No.46
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Read the passage and answer the questions that follow

As Martin tells the story, Dius Tadong knows a great deal about the tropical forest in his country,
Malaysia. After working for several years all over his native island, Borneo, for the Sabah State
Forest Authority, he decided to return to his home village, part of the Dusun community. The
Dusun are an indigenous group who still depend to a large extent on what nature provides. They
live on the edge of the Kinabalu National Park, a large protected area of 753 square kilometers.
Tadong works with the villagers to collect and list plants. The project aims at providing better
knowledge and use of plant species in protected regions by providing training and assistance.

“In Kinabalu Park,”, Martin writes, "the first stage consists of drawing up an inventory on rich flora,
believed to include about 4,000 species, starting with plants that are useful to humanity. Studies of
medicinal, edible and decorative plants are planned. Dius Tadong continues to cultivate the land,
just as the other five plant collectors still work in their villages. They concentrate on palm trees,
including those used to make cane, which are of crucial importance to the local population. The
trees are used as food and in traditional medicine, as roofing material, to make rope, and in arts
and crafts.

"Similar projects are underway elsewhere - in Bolivia, Cameroon, Mexico, Uganda and the
Caribbean for instance - in the hope of building ecological awareness based on ancestral
knowledge. These projects may turn out to be more rewarding than previous efforts because they
are being conducted in cooperation with the local people who know the forest intimately.”

= fau e e T ufln ST ust @1 =R it

ST i A geid I €, 5 ersin @ 99 39, AaREl $ Sumieddy o7 & 9k # §gd
P TSN ¢ | 0+ Tl = g1, il Ryd UaTe I 9 WRER & Y $@ aul a@ -
@ & UYId I S 9l (@A) & 8 | Ryg, e/uH Tiq died &1 Hyd @1 533 @
RISl (FGRM) THE © @l ol Hi 95d ga do Udid-Ued gl R MR §1 9 753 & fbariie & i@
g6 WX &7 H Ry fbrany APy Uik & IR W Har aed 81 <rsh uled! & §9% SR g
M &g IHAIETl & T B Bd 8| UREieH BT 3587 U iR Gerdr gR1 OXiEd & |
ey el & SR H ded I Ud STRT gay S o

“foTaTe Ut # A forgd €, “UuH fawl § GG a4eiadl U U Gl &1 gl d =1 Hd 4
o S0+ HHadl g SUTRT UTGUl ¥ ¥ B 4000 Welld| AiHd g1 SuEiy, Wie 3R Gead! UGyl &
HepF i [ T €1 f399 ersin 4 YiF 9§ 34l UsR uied geFT 9K 1 o fé o dig
UGY TARS 30+ A4 B $3d &1 § §d 994 H ITGRT 3 aia! afed 918 & g4 W o $iad oed
8 Sl W SAYE 5 e Aed & g1 39 34 &1 Iugi W SR WA Ny & 9 ¥, 3d
et & w9 H, I 99 H, SR Pl SR Ry | fear S g -

"Rl F9 R ARG Ui Sredmar Fidd &4 @ smn § - e @ o 99H
g S, HHE-, Bfdud!, e IR Hfeus o2 3 gard o W@ 1 3 uRaeAn i@ &
T B AT e Hoar! Wifed g SHdl ¢ it 4 34 FIG Al & gediT § Saierd @1
Tl & ol 9 @l AT 0 U I g l°

How many plant collectors are working in the project referred to in the first two paragraphs of the
passage?

1.6
2.5
3.4
4.7

1) 1




) 2
3) 3
(4) 4

TR & Ugd &l Sfesal () § Ha Hd - Uiey Sae® Uael | @1 2 3 87
1.6
2.5

3.4
4.7

(1)
(2)
(3)
(4)

A W N R

1[Option ID=35881] Question Description : dwbv_pg_gp14_eng_2_q46
2[Option ID=35882]
3[Option ID=35883]
4[Option ID=35884]
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Read the passage and answer the questions that follow

As Martin tells the story, Dius Tadong knows a great deal about the tropical forest in his country,
Malaysia. After working for several years all over his native island, Borneo, for the Sabah State
Forest Authority, he decided to return to his home village, part of the Dusun community. The
Dusun are an indigenous group who still depend to a large extent on what nature provides. They
live on the edge of the Kinabalu National Park, a large protected area of 753 square kilometers.
Tadong works with the villagers to collect and list plants. The project aims at providing better
knowledge and use of plant species in protected regions by providing training and assistance.

“In Kinabalu Park,”, Martin writes, "the first stage consists of drawing up an inventory on rich flora,
believed to include about 4,000 species, starting with plants that are useful to humanity. Studies of
medicinal, edible and decorative plants are planned. Dius Tadong continues to cultivate the land,
just as the other five plant collectors still work in their villages. They concentrate on palm trees,
including those used to make cane, which are of crucial importance to the local population. The
trees are used as food and in traditional medicine, as roofing material, to make rope, and in arts
and crafts.

"Similar projects are underway elsewhere - in Bolivia, Cameroon, Mexico, Uganda and the
Caribbean for instance - in the hope of building ecological awareness based on ancestral
knowledge. These projects may turn out to be more rewarding than previous efforts because they
are being conducted in cooperation with the local people who know the forest intimately.”

= fau e e T ufln ST ust @1 =R it

ST i A geid I €, 5 ersin @ 99 39, AaREl $ Sumieddy o7 & 9k # §gd
P TSN ¢ | 0+ Tl = g1, il Ryd UaTe I 9 WRER & Y $@ aul a@ -
@ & UYId I S 9l (@A) & 8 | Ryg, e/uH Tiq died &1 Hyd @1 533 @
RISl (FGRM) THE © @l ol Hi 95d ga do Udid-Ued gl R MR §1 9 753 & fbariie & i@
g6 WX &7 H Ry fbrany APy Uik & IR W Har aed 81 <rsh uled! & §9% SR g
M &g IHAIETl & T B Bd 8| UREieH BT 3587 U iR Gerdr gR1 OXiEd & |
ey el & SR H ded I Ud STRT gay S o

“foTaTe Ut # A forgd €, “UuH fawl § GG a4eiadl U U Gl &1 gl d =1 Hd 4
o S0+ HHadl g SUTRT UTGUl ¥ ¥ B 4000 Welld| AiHd g1 SuEiy, Wie 3R Gead! UGyl &
HepF i [ T €1 f399 ersin 4 YiF 9§ 34l UsR uied geFT 9K 1 o fé o dig
UGY TARS 30+ A4 B $3d &1 § §d 994 H ITGRT 3 aia! afed 918 & g4 W o $iad oed
8 Sl W SAYE 5 e Aed & g1 39 34 &1 Iugi W SR WA Ny & 9 ¥, 3d
et & w9 H, I 99 H, SR Pl SR Ry | fear S g -

"Rl F9 R ARG Ui Sredmar Fidd &4 @ smn § - e @ o 99H
g S, HHE-, Bfdud!, e IR Hfeus o2 3 gard o W@ 1 3 uRaeAn i@ &
T B AT e Hoar! Wifed g SHdl ¢ it 4 34 FIG Al & gediT § Saierd @1
Tl & ol 9 @l AT 0 U I g l°




Given below are two statements:

Statement |: Tadong, a native of Borneo Island, is an outsider in the Dusun community.
Statement II: Tadong currently works with the Sabah State Authority.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1) 1
) 2
3) 3
4) 4

EIECAE AR
TYA - |- TG 410 @ Ja Hard (G, TS 591 99ad (@He) | aes ofad ol
B - || : TS FaHH H FaTg Ay W0 H HERE ¢ |
IWE DUl & e F Fafaied feeedl § 9 98l s g -
1. ®YF | 3R 11 EH 9 B
2. BYA 1 3R 11 G A B

3. YT | 9 &, dfh dYA 11 T g
4. ®YT | AT B, et BT 11 TA Bl

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=35885] Question Description : dwbv_pg_gp14_eng_2_q47
2[Option ID=35886]

3[Option ID=35887]
4[Option ID=35888]

Sl. No.48
QBID:14201048




Read the passage and answer the questions that follow

As Martin tells the story, Dius Tadong knows a great deal about the tropical forest in his country,
Malaysia. After working for several years all over his native island, Borneo, for the Sabah State
Forest Authority, he decided to return to his home village, part of the Dusun community. The
Dusun are an indigenous group who still depend to a large extent on what nature provides. They
live on the edge of the Kinabalu National Park, a large protected area of 753 square kilometers.
Tadong works with the villagers to collect and list plants. The project aims at providing better
knowledge and use of plant species in protected regions by providing training and assistance.

“In Kinabalu Park,”, Martin writes, “the first stage consists of drawing up an inventory on rich flora,
believed to include about 4,000 species, starting with plants that are useful to humanity. Studies of
medicinal, edible and decorative plants are planned. Dius Tadong continues to cultivate the land,
just as the other five plant collectors still work in their villages. They concentrate on palm trees,
including those used to make cane, which are of crucial importance to the local population. The
trees are used as food and in traditional medicine, as roofing material, to make rope, and in arts
and crafts.

"Similar projects are underway elsewhere - in Bolivia, Cameroon, Mexico, Uganda and the
Caribbean for instance - in the hope of building ecological awareness based on ancestral
knowledge. These projects may turn out to be more rewarding than previous efforts because they
are being conducted in cooperation with the local people who know the forest intimately.”

= fau e e T ufln ST ust @1 =R it

ST i A geid I €, 5 ersin @ 99 39, AaREl $ Sumieddy o7 & 9k # §gd
P TSI ¢ 1 0+ ol ¢ g1y, i Ryd gate I a1 e & Y $@ aul d@ &
B & YA I S 9™ (G & 8 o Ryq, o/uH Tiq died &1 FHyg @1 g3 @
RISl (FGRM) THE © @l ol Hi 95d ga do Udid-Ued gl R MR §1 9 753 & fbariie & i@
g6 WX &7 H Ry fbrany APy Uik & IR W Har aed 81 <rsh uled! & §9% SR g
M &g IHAIETl & T B Bd 8| UREieH BT 3587 U iR Gerdr gR1 OXiEd & |
ey el & SR H ded I Ud STRT gay S o

“foTaTe Ut # A forgd €, “UuH fawl § GG a4eiadl U U Gl &1 gl d =1 Hd 4
o S0+ HHadl g SUTRT UTGUl ¥ ¥ B 4000 Welld| AiHd g1 SuEiy, Wie 3R Gead! UGyl &
HepF i U e €1 f399 ersin 4 4iF 9§ 34l UsR uied JeFT 9K @1 oY a5 o dig
UGY TARS 30+ a4 B $3d &1 § §d 994 H ITGNT 3 aial afed 918 & g4 W o $iad oed
8 Sl WG S g e Aed & g1 3 3aT &1 Iugi W SR WA Ny & 9§, 3d
et & w9 H, I 99 H, SR Pl SR Ry | fear S g -

"Rl F9 R ARG Ui Sredmar Fidd &4 @ smn § - e @ o 99H
g S, HHE-, Bfdud!, e IR Hfeus o2 3 gard o W@ 1 3 uRaeAn i@ &
T B AT e Hoar! Wifed g SHdl ¢ it 4 34 FIG Al & gediT § Saierd @1
Tl & ol 9 @l AT 0 U I g l°




Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A): Earlier projects in the region were not very fruitful in achieving what they were
aimed at.

Reason (R): Earlier projects were conducted without cooperation and support of the local people.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct and (R) is NOT the correct explanation of (4).
3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.

(1) 1
) 2
3) 3
(4) 4

TR FY RIS te &l i@ (a) IR TR &1 d& (R) T2

HIGYA () - &7 T GITed 1 Ta! URAeHE AHRY H 30 GHEd S5=al ®f Wik @ 3 954
HfeD Boerl el Uil

P (R) : 3RY H, RIS g @il & 841 g ud o & daifed & st 4
IULad Sl & HITld | FHifdsd [dwmedl H 4 9el 9wk g -

1. (A) 3R (R) TFI W81 & AR (R), (A) BT TeI ARAT B |
2.(4) ¥R R aﬁfﬂﬁ%ﬂﬁ )ﬁﬂﬁwﬁ%l
3. (A) W61 8 IR R}*ﬂﬁﬂ’aﬂ%l
4.(A) 98I 181 § R (R) W1 &
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=35889] Question Description : dwbv_pg_gp14_eng_2_q48
2[Option ID=35890]
3[Option ID=35891]
4[Option ID=35892]
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Read the passage and answer the questions that follow

As Martin tells the story, Dius Tadong knows a great deal about the tropical forest in his country,
Malaysia. After working for several years all over his native island, Borneo, for the Sabah State
Forest Authority, he decided to return to his home village, part of the Dusun community. The
Dusun are an indigenous group who still depend to a large extent on what nature provides. They
live on the edge of the Kinabalu National Park, a large protected area of 753 square kilometers.
Tadong works with the villagers to collect and list plants. The project aims at providing better
knowledge and use of plant species in protected regions by providing training and assistance.

“In Kinabalu Park,”, Martin writes, “the first stage consists of drawing up an inventory on rich flora,
believed to include about 4,000 species, starting with plants that are useful to humanity. Studies of
medicinal, edible and decorative plants are planned. Dius Tadong continues to cultivate the land,
just as the other five plant collectors still work in their villages. They concentrate on palm trees,
including those used to make cane, which are of crucial importance to the local population. The
trees are used as food and in traditional medicine, as roofing material, to make rope, and in arts
and crafts.

"Similar projects are underway elsewhere - in Bolivia, Cameroon, Mexico, Uganda and the
Caribbean for instance - in the hope of building ecological awareness based on ancestral
knowledge. These projects may turn out to be more rewarding than previous efforts because they
are being conducted in cooperation with the local people who know the forest intimately.”

= fau e e T ufln ST ust @1 =R it

ST i A geid I €, 5 ersin @ 99 39, AaREl $ Sumieddy o7 & 9k # §gd
P TSI ¢ 1 0+ ol ¢ g1y, i Ryd gate I a1 e & Y $@ aul d@ &
B & YA I S 9™ (G & 8 o Ryq, o/uH Tiq died &1 FHyg @1 g3 @
RISl (FGRM) THE © @l ol Hi 95d ga do Udid-Ued gl R MR §1 9 753 & fbariie & i@
g6 WX &7 H Ry fbrany APy Uik & IR W Har aed 81 <rsh uled! & §9% SR g
M &g IHAIETl & T B Bd 8| UREieH BT 3587 U iR Gerdr gR1 OXiEd & |
ey el & SR H ded I Ud STRT gay S o

“foTaTe Ut # A forgd €, “UuH fawl § GG a4eiadl U U Gl &1 gl d =1 Hd 4
o S0+ HHadl g SUTRT UTGUl ¥ ¥ B 4000 Welld| AiHd g1 SuEiy, Wie 3R Gead! UGyl &
HepF i U e €1 f399 ersin 4 4iF 9§ 34l UsR uied JeFT 9K @1 oY a5 o dig
UGY TARS 30+ a4 B $3d &1 § §d 994 H ITGNT 3 aial afed 918 & g4 W o $iad oed
8 Sl WG S g e Aed & g1 3 3aT &1 Iugi W SR WA Ny & 9§, 3d
et & w9 H, I 99 H, SR Pl SR Ry | fear S g -

"Rl F9 R ARG Ui Sredmar Fidd &4 @ smn § - e @ o 99H
g S, HHE-, Bfdud!, e IR Hfeus o2 3 gard o W@ 1 3 uRaeAn i@ &
T B AT e Hoar! Wifed g SHdl ¢ it 4 34 FIG Al & gediT § Saierd @1
Tl & ol 9 @l AT 0 U I g l°




The project plans to study plants which are useful for -
A, Timber

B. Medicine

C. Decoration

D. Food

Choose the correct answer from the options given below:

1. A, B and Conly
2. A, Cand D only
3.A Band D only
4.B, Cand D only

1) 1
(2) 2
(3) 3
(4) 4

gfygie & Fafefad & 9 foae fog guant urgat o s fAgifea &2
A THRAI dd sl
B. 31T9E

C. §aldd

D. dle]

< U e fdeal & @ 98l IR g4 -
1.BaAA, B IR C
2. BadAA, C3R D

3. AT A, B3R D
4. HadB, C 3R D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35893] Question Description : dwbv_pg_gp14_eng_2_q49
2[Option ID=35894]

3[Option ID=35895]
4[Option ID=35896]
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Read the passage and answer the questions that follow

As Martin tells the story, Dius Tadong knows a great deal about the tropical forest in his country,
Malaysia. After working for several years all over his native island, Borneo, for the Sabah State
Forest Authority, he decided to return to his home village, part of the Dusun community. The
Dusun are an indigenous group who still depend to a large extent on what nature provides. They
live on the edge of the Kinabalu National Park, a large protected area of 753 square kilometers.
Tadong works with the villagers to collect and list plants. The project aims at providing better
knowledge and use of plant species in protected regions by providing training and assistance.

“In Kinabalu Park,”, Martin writes, “the first stage consists of drawing up an inventory on rich flora,
believed to include about 4,000 species, starting with plants that are useful to humanity. Studies of
medicinal, edible and decorative plants are planned. Dius Tadong continues to cultivate the land,
just as the other five plant collectors still work in their villages. They concentrate on palm trees,
including those used to make cane, which are of crucial importance to the local population. The
trees are used as food and in traditional medicine, as roofing material, to make rope, and in arts
and crafts.

"Similar projects are underway elsewhere - in Bolivia, Cameroon, Mexico, Uganda and the
Caribbean for instance - in the hope of building ecological awareness based on ancestral
knowledge. These projects may turn out to be more rewarding than previous efforts because they
are being conducted in cooperation with the local people who know the forest intimately.”

= fau e e T ufln ST ust @1 =R it

ST i A geid I €, 5 ersin @ 99 39, AaREl $ Sumieddy o7 & 9k # §gd
P TSI ¢ 1 0+ ol ¢ g1y, i Ryd gate I a1 e & Y $@ aul d@ &
B & YA I S 9™ (G & 8 o Ryq, o/uH Tiq died &1 FHyg @1 g3 @
RISl (FGRM) THE © @l ol Hi 95d ga do Udid-Ued gl R MR §1 9 753 & fbariie & i@
g6 WX &7 H Ry fbrany APy Uik & IR W Har aed 81 <rsh uled! & §9% SR g
M &g IHAIETl & T B Bd 8| UREieH BT 3587 U iR Gerdr gR1 OXiEd & |
ey el & SR H ded I Ud STRT gay S o

“foTaTe Ut # A forgd €, “UuH fawl § GG a4eiadl U U Gl &1 gl d =1 Hd 4
o S0+ HHadl g SUTRT UTGUl ¥ ¥ B 4000 Welld| AiHd g1 SuEiy, Wie 3R Gead! UGyl &
HepF i U e €1 f399 ersin 4 4iF 9§ 34l UsR uied JeFT 9K @1 oY a5 o dig
UGY TARS 30+ a4 B $3d &1 § §d 994 H ITGNT 3 aial afed 918 & g4 W o $iad oed
8 Sl WG S g e Aed & g1 3 3aT &1 Iugi W SR WA Ny & 9§, 3d
et & w9 H, I 99 H, SR Pl SR Ry | fear S g -

"Rl F9 R ARG Ui Sredmar Fidd &4 @ smn § - e @ o 99H
g S, HHE-, Bfdud!, e IR Hfeus o2 3 gard o W@ 1 3 uRaeAn i@ &
T B AT e Hoar! Wifed g SHdl ¢ it 4 34 FIG Al & gediT § Saierd @1
Tl & ol 9 @l AT 0 U I g l°




Given below are two statements:
Statement I: Dusun community lives inside the Kinabalu National Park.

Statement |I: The project plans to fulfil its aim by utilizing the traditional knowledge of local
people

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
(2) 2
3) 3
(4) 4

EIERAAIE A
HYF - |- T GG (BRI THTaIe AP U & SR Ha B gl
YA - || : GRS ST D1, RIFE AR & GWRAd T4 & 3940 gRT AU 35=d &1 U &A1 o
Il HYAl & 3o H FEitiad el # 9 98l Su g -
1. Y | 3R 11 &H 9T B
2. ®YA 1 3R 11 Gl S Ed g

3. YT | 9d §, Afth dY 11 3T g
4. ®YT | AT B, TfeT BT 11 TI B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35897] Question Description : dwbv_pg_gp14_eng_2_q50
2[Option ID=35898]

3[Option ID=35899]
4[Option ID=35900]

Paper II : 38-Marathi

Sl. No.1
QBID:38001

FAHM HIVE Ydi gl 7 Udbcicll @ SwRaiel! didd el FHIU &% Adhdl, HIeH] 31 UEHT .............

1. Tea’ig I3
2. UiEpide THHm
3. FAfHfoefiea

4. fafrgan

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=37101] Question Description : dwbv_pg_mar_mar_2_q1l
2[Option ID=37102]




